e ) e ‘| 2 5 a_ilFl_J

BRPE R
m Lu/ " W4 x 20 (SUS304) HE5A
15

/IZM W=1200 W=1200 5~25Q) s .
~SRMRL { 7/&3&&/“
|
I
\

|
—

100 (5~100)

W5 x 8 (SUS304)
BEEREE S

33

46
Il
m
=
K]

45

100 (5~100)

1200

=

H

&z
-

1200
=

X1

pul
=
pul
=

H

45
\
\
\
\
=
3

70(35~170)

B

1S 250

97 W

FS R L 30 S 1=250 D C 4 i—
M5 x 8 (SUS304) 7 s
BEEREE S

ok

FSRFURER
M4x]3(SU3410)

I ER M

S22/l -
M5 x 12 (SUS304) FS R L
BEEDELEM M5 x 12 (SUS304)
BEERER

250

]

100

J‘q\

K

=
|
L L + + L

E
[ o]
T

— b

50

g T

e w F(F)

@120LLF 20~60 54y hET

\Abst /85— s
2T TL—kA W=1200 (75~250)
(SUS304)

SR b
W12 x 12011 £ (SUS304)
FAS

. ]

15§ B $3 5 7 (CHEMOFAST STV345)

20~60 @120L4F

73
80 g 70 (35~70) 46

FHRS
90mmiL b

SBADE L]

255 :2023.02. 06

ek 75uE ﬁ?ﬁfﬁ‘ﬁﬁ

- 15080 F

X WE10°

HETFEAR # E3 % R F @ B B # % #® I%%

® R
BT : : : : . ml:3 w16 |- /o

Hl5E:

: : Péﬁ = fERERR 247 ERES EZ) HEES
 —_ SR A R : : BXE &M% 158 FKSAJMEVE | - L

‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ * ®E&S «  000000000. 000




BEWEX LT (k)

150%

Z55:2023. 02. 06

HIE:

R BRPE X
8 W4 x 20 (SUS304) LA
~ 97
8 g N
ug / | S~
3 FS 0L i >
S 5 x 8 (SUS304) |
HERELER B |
T [
‘ |
& ( | "
! ;
g 2 |
3
g
IS4y hE -
#C
g
3
/FELC
s g A
| = 1
= vi =11
2 N i
\
hiES 400 % WS
E
]
|
I z N
| N4 x 13 (SUS410)
! SEEEER
-
‘
|
kS ZMAL 30 y grhsi—
‘ ~ M5><78(SUSSO4) ¢ .
; WS
! =
I <=
| 2
| ~ \:77 |
: R
| ESRMAL — 8 _ _ _ .
W5 x 12 (SUS304) ES 2L Eﬁﬁ‘
B, W5 x 12 (SUS304) ==
e I, i‘g
N
5o
S ‘b | ‘L,,,J H,,,@J‘ | | A ; ‘@Li
1} I
f ‘ . i I
N i, —% F
i -y ;‘[ ‘
0 11y o T 20~60 " ISty hET
P E = } } NALfths8=8 75
xS | 27T L— kA (75~250)
= i (SUS304)
|
o NHEIARIL b~
W12 x 14011 E (SUS304)
0 | —
N g4t 5 7 1 (CHENOFAST STV345)
BADE EHA14.5x 11051 E HRHATE
g° = HtwrmE &
X HE10° 3
WTEAR EER % R BLES
& L WS m1:3 a1:6
e — NSRS T
A =
o 1508 FWKS A FwEYR | " ot

= EE&S +  000000000. 000




n m 300%!
LU L% . LEA

W=900 W=900 5~25 w

3
)

FS Rl
M5 x 8 (SUS304)
EEEES

33

100 (5~100)

¥
\»T\\E
\N§

46
1
N
=
«Q

100 (5~100)
45
% — +r—
L

=
1200

vd

K
=
HE

S
M4 x 13 (SUS410)
BEEREE S

1200

Ti%

=

H

—|
ELK
|

70(35~70)

HEBX

700

550

97

b —7?\4\19 L)
5 8 (SUS304 _
I 30 A 1=700 /ﬁﬂ

IS5y kD ) L] L

Tk
Py a— —Hil — — — — — - — — -
W5 x 12 (SUS304) kSRR L N 554y rET ‘

m AR M5 x 12 (SUS304)
BEEREES 15,

6
I
I

=

70(35~170)

g T

e w T ()

p— 0 5

g

]

Y% 20~60 @120 F " @120

20~60 2354w hET

2T FL—FA W=900 (75~250)
(SUS304)

SR b

M12 % 180LL £ (SUS304)

L]

Eilii=t | (CHEMOFAST STV345

gHLRS
150mmiL b
14

AL P 14.5x 150U £ i v
B EE HEETE X

Z58:2023.02. 06

6 o _ 10081 E Iy 10081 E ﬁiﬂ,’ﬁﬁ

20080 E

X HEL10°

RTEAR # = ¥ 2 F B R B E # 0% B I%% BLES

L)

% R
B BT : : : ' . ml:3 w16 | - /o

HlE

ﬁ $ 2 (23T 547 B & EZ) HEES
REMTBRAAU : : REH BATH 00 FIKZA TWMEYE | " S,

‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ = BEE#S +  000000000. 000




	シートとビュー
	910007-fmka-床 125
	910007-fmka-床 150
	910007-fmka-床 300


